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1000 Sededebe e LUIEL 4237853.337 | 3366825.450 | 871027.887
(innn 1100 + winn 1200+wnn 1300)
wjn pyntd
1100}1. 3UPyGN 64 SNEPLREN 7100 | 1095844.965 | 1095844.965 X
(nnn 1110 + nnn 1120 + wtinn 1130 + tninn 1150 + ninn 1160)
wjn pyntd’
1110]1.1 QnujpwhG hwplbp whywnpd gniyphg 7131 391391.965 391,392.0 X
wyn pyntd’ e
| Anupwhwnl hwdwjGplbph Juipswuwh tnwpwsplbipnid
51111 qubynn ptGpLph L phlGnipyntGGEph hwdwp, nphg’ d i R -
| bhahwlwb whdwlghg 16,000.0 16,000.0
i | hpwdwpwlwlwlw whawbghg 7,000.0 7,000.0
!1112 %nq’h hwply hwiwjGpltph LlEJUDZLUL{LuG nwpwépbbpnLd 21.000.0 21.000.0 N
! awnbdnn hnnh hwiwnp, nphg
| Qjnin. Grwlwlynipywl hnntp 16,000.0 16,000.0
! : ng gjnin. Grwhwlnepjwl hnnbp 5,000.0 5,000.0
lupwnd gnuph hwpy, nphg' 347,392.0 347,392.0
Ulpwind gnuph hwpy /hpwdwpwliwluwl wuswlghg/ 51,185.239 31,186:239
Ulpwind gnuph hwpy /$hahluwlul wbidwughg/ 296,206.726 | 296,206.726
1120} 1.2 QnuypwihG hwpltp wyp gniyphg J 7136 627000 627000 X
wyn pyntd’
1121] GQnypwhwpl thnfuwnpwdhengltipnh huwdwp 627,000.0 627,000.0 X
1130 1.3 Uwpwlpltnh oquugnpddwb Uuui ?nncmﬁbmpjwﬂ 7145 59453 50453 X
hpwlywlwgdwb pnyypinynepjwl YGwnpbtp
wyn pyned’
1131 Stinwljwl winipptp 71452 59453 59453.0 X
(innn 1132 + wninn 1135 + winn 1136 + wtinn 1137 + ninn 1138
+wnn 1139 + wninn 1140 + iinn 1141 + winn 1142 + winn 1143
+wnnn 1144+wnnn 1145+wnnn
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w) Iwdwylph nwpwépnted Gnp pGptph, 2hGnipintGGhph
62 (Gepwnjwy ng hhaGwlwa) 2hGwpuwpnipnild (nEnuwinpdw) 11017.0 11017.0 X
pnynyntpjwl hwdwp (innn 1133 + ninn 1334),
nphg’
1133 wuw) Ihdbwlwb phbnipyntGGaph hwdwnp 10,985.0 10,985.0 X
1134 wp) Ng hhdGwlwb 2hGnipntGGeph hwdwp . 32.0 32.0 X
p) Swdwjlph qupswlwl wmwpwdépnid shGptiph,
2hlnepyniGhEph, pwnwpwhbwlwb wy opytlnGeph
dbpwlwenigtwl, nudbnugiwl, Jepwlwbqbiwd,
EL S5 wpnhwlwlwgliwh wluwnwbpbtp (pugwnnipjwdp 33 459.0 459.0 X
ontlunprpjwdp uwhdwldws™ phGwpuwpnip)w
pnuinynipintl syywhwbodnn nbwptiph) Guwwptnt
pntjinynipjwl hwawnp
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q) widwylph qwpswljwb mwpwépned phlptiph,
2hGnipjnLGGanh, pwnuwpwhGulwh wy opjtlynGaph
pwlndwh pnijpinynipjwl hwdwp

125.0

125.0

X

m 3wdw)lph nwpwdpnud ngbihg fudhsplinh U (Guwd)
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wpunwnpwiph hpwgdwG pnypnynepywb hwdwp, Gnyl
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Stuwhuninh wpnwnpwbph Juwdwneph, huly hwGpuwhG uGnh

22,400.0

22,400.0

-nqtithg fudhspltph hpwgdw hwdwn hhd. phG Ghpuntd

11,5560

11,5656.0

-Ghuwhuninh hpwgdwb hwdwnp hhdGulwb 2ha Gepuncd

10,844.0

10,844.0
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!
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550.0
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q) Iwdw)lph wwpwépntd htnnely Jwnbihph,
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wnbhubhlwlwh hanniyGhph, hannijuwgdwé quqtiph
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5,200.0
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1140
fuwnwwnbtpp dwdp 24.00-hg hGunn wfuwwnbnt
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p) Iwdwbph tnwpwdpntd wpwwphl gnjuan ntnwnpbpnt

10,872.0

10,872.0

dw) Jwdw)lph tnwpwopntd (pwgwentpjwdp pwnuwiha
hwdwGplbbph) dwpnwwnwp wwpunt (pugwnnipjuwdp
GppninwihG wnwpuhbbph) wnwinepntt hpwlwbwghbnt
pnujpunynepjwl hwdwn

60.0

60.0

dp) PBwhlwnpdbp dbunwnbbaphg wwnpwuwndwd hptph
dulpwoéwhu wentwdwnph pnypndnipjwl hwdwnp

150.0

150.0

dg)3wdwilph whjwuncdp $hpdwht wudwunudubnnud
oguiugnpstint entjpunynepyjwl hwduwn

600.0

600.0

dn)ruwuncputpnud , Ypwywubpnid inbhulihuuwu
i hennLyubph Juwiwnph pnyiunygnipjwl hwdwnp

1,940.0

1,940.0

¢)3wdwjuph nwpwspned hwbipuwhu ubunh
! Juquuwytpwdwl W hpwgdwl pnypuynepjul hwdwp

2,240.0

2,240.0

Ingbhwlguinh Shuwwunwpnipjwl swnwnipintulbph
hpwlwlwgnud

2,000.0

2,000.0

| Ywpuwnlbh, nhuynuntyh, pwnuhph, uwntuwh W
| 2ngGpwnuhph hwdwp® opwgnigwihl vwpyw hwdwp
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40.0
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w) Pwnwpwghwlwb Guwgnipjwl whnbp qgpubgbpnt,
npwlg dwuhl pwnuwpwghbbpht Uplyowyh Jhuwjwlwbbp,
pwnwpwghwlwb Jugnipjwl wlmbpnid umwpywéd
gpwnntdbtpned thnthnfuntpntGGtip, (pwgnedlbp,
ninnnedGbp Guwwnwnbine b yepwlubqbiwh
Guwwlgnipjwip Yhuywlwbbbp wiwpnt hwdwn

1152

3,000.0

3,000.0

p) Lninwpwlwb gpwuttywlGaph Ynndhg Gninwpwlwb
Gwnuwnipynt0GEp Yuunmwpba, Gninwpuwyw Yupgny
quybpwgyweé thwuwmwpnpbph Ypllophbwlibep wwpnt,
Gows dwpdhbGbbph Ynndhg gnpduippbtph Guwhuwqsdtp b
nhantilGbp Yuqubing, thwuinwpnpbnh wwndkGbn hwabpnt
L npwlghg pwndwdplbn tnwpnt hwdwn
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15,000.0

15,000.0
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181156/ :0
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p) Mbnwlwhb pjnothg mpwdwnpynn wyp nnunwghwabp

11254
L | wnpymd

0

0

| pw) Jwdwylph pyniobh BLwinunltpp Gwqbglnn® 33
onptlpltph Yhpwpluwl wpmynibpned hwdwGph pjniekh
GUwanunGtph YnpniunGEph wennepjwb Ynndhg
thnfuhwinnigynn gnidwpbbp

11255

1256] pp) wjl nnunwghwlbp

0

q) MEwnwlwh pjniobhg inpwdwnpynn GuwunwlwihG

? 1257? hwwnlwgnidGbp (unipytlghwlbip)

30560.4

3050.4

~nl 2.6 bwwhunwy Gipphl wwonnbwluit npuwdwbGnphbbp’
280,
unwgdwé Yuwpwywpliwl wy dwlwpnwlbbphg

{{tnnn 1261 + iinn 1262)

1382

871027.887

871027.887

juyn pyniy’
| w) Manwlwh pjnietihg Guwhwnwy Gwuutiph
dhlwluwdnpiwb Guunwljuwh G hwanlugnedbbnp

1261|
| (unipytlghwibn)

871027.887

871027.887

| P) 3R wy hwdwGplbphg Guwhww whuukph
;1262% Shlwluwdnpiwb Gywunwyny unwgdnn wwnnbwlwh

npwdwlnphbbp

Inphg’
| Gplwl pwnwph hwiwpwnuwpuwht Gruwbwlnipjul
1263 Swhuubiph $hlwluwnpdwl Gupunwyny alwlnpdwé
dheongltinhg

X

1300,3. U3L shkuunksuen
{{tinn 1310 + winn 1320 + wninn 1330 + wninn 1340 + inn 1350 +
{tinn 1360 + inn 1370 + tinn 1380)

?wm pynty’

7400

456373.1

456373.1

0.0

.1330;3.3 Qnuph dwpdwlwinipintbhg GhwdnunGhp
;(mnq e i) 1382 +ilnnn 13335°1334)
fwjn pynLd’

7415

44501.785

44901.785
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Jwiw)bph ubthwlwbnipyntld hwdwpdnn hanGph
of 7 X
Ll YJuwpdwlwnipjwl Juwpdwyswplbbp el Ta,Chh) o
~gjnenwnbnbuwlwi Gwlwlnipywb 19,142.667| 19,142.667
-ns gyninwwnbnbuwlwb Gpubwlnipyjwl 12,973.048| 12,973.048
Jwiwybph Jwpswlwh nwpwopnid gunlynn whnnegjwl b
1333 hwowGph ubthwlwbnipjwbp wwnlwbnn hnnwdwutph 2219.77 2.219.77 X
Yunnigwwwndwb hpwyntlph nhdwg qubaynn
Juwpdwswnpltp
1334| UjL gnuyph quwpdwlwinipintGhg dnunpbp 10,566.30 10,566.30 X
3.4 3wduwylph pynpbih Ghwdnunbp wupwbplbbiph -
3998. : X
1340 dwonwlwpupniihg b swnwynipintGGGph dunnnigniihg A 040 399500
(ninn 1341 + wnnn 1342)
wyn pynid’
Rwdw)bph ubthwlwbnipintld hwinhuwgnn, wn pyntd’
wnhpwaniply, hwdwGpht npwbu ubthwlwbnipynit wlgwé
1341 wypwlpbbph (pwgwenepjwdp hhdGwlwb dhong, ng 0.00 X
GynepwliwG Yuid pwpdpwpdbp wiwmhy hwlnhuwgnn, hGswtu E
Guwl hwowylph wwhniunbbpned wwhinn
wuwpwbpwbnipwlwb wpdbpltph) Jwdwnphg dntinptn
MNewnnepjwl Ynnihg nbnwlwb hGphwlwrwdwpdwh
dwpohGlbepht wwwndhpwlduws thwanpnipyntbbtiph
-1342_ hpwlwlwgdwb dwhuubph hGwbuwdnpiwl hwdwp e ety A
whnwlwb pjnipbhg unwgynn dhonglbp
1350 3.5 dwpswlwb qubantibtp 7422 395473.30 395473.30 X
| H{tnnn 1351 + winn 1352 + wninn 1353)
tuyn pynuy’
!1351 Stnulwl Jownplbbp 343373.30 343373.30 X
| Iwdwjlph tnwpwsdpnid 26Uph Ywd 2huntpjul wpunwphl
i wGupp Yinthnfunn yapwuunnigdwl wohuwwnwipnh 50.00 5000
enyynLpjwl slewybpudwl swnwynepnllubnh : '
thnhuhwinnigdwu yéwn
Jhwuhwnmdwuwb Swnuwynipintlltphg yéwn 1320.00 1320.00
{Bunnuwywl Ysdwpubp 158748.30] 158748.30
(Unpwhwlntpjwl Jadwp 160255.00] 160255.00
IShGwpwpnipjwl wywpnp thwunwgpbint hwdwp 5000.00 5000.00
IShinpinlilbnhe owhwgnpddwl pnypund. hwdwn 5000.00 5000.00
IUnpgnyplbp L wanipnbbp Qugdwlbpwtine han uwwé wpfu 13000.00 13000.00
- ; Swdwilph qupswlwh nmwpwopntd haplwlwd Yunnigwsd
,13°2§ 26Gptph, 2hlnepyntGGEph ophGwlwlwgdwh hwdwp dwpbtp il e e
OphkGpny uwhdwbGqwoé nbwptpned hwdw)jlpuughl
| hpdGwplbtph Ynndhg wowbg wbnwljwh innupph quGatwh
13531 duwnnigynn SwnwgnepntGabph Luwid uiwnwpdnn 300.00 300.00 X
gnponnnipyntGGEnh nhdwg unwgnn (qubadynn)
ddwpbbp/JGpwhwugbwynnnid/
fuwysnipiwl hwnney uywuwnynidhg dntinptp 1800.00 1800.00
1360/3.6 Untinptip inniydtiphg, lniniquilpltinhg 7431 12000.00 12000.00 X
f(mnq 1361 + winn 1362)
imm pyntd’
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1361 NORGwlwrwywpdwl dwpdhGhnh Unnahg 12000.00| 1200000 | X
wwnwuhuwGwndnepjwl dhongbtph Yhpwnntdhg i
Elwdninbbp ;

Untinpbp hwidw)Gph pneetih Ghundwdp unwGalws |
1362| wwydwlwagpuwihl wwpwnwdnpnipniGlbiph sGuunun Okt 0.00 X
: nhdwg qubaynn wntjdtiphg K\()c.g;@?jzbk
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